

Exponential sums connected with Möbius function

C. CALDERON - M.J. DE VELASCO^(*)

RIASSUNTO: *In questo lavoro si ottengono alcune formule di maggiorazione per le somme esponenziali della funzione aritmetica $\mu_r^*(n)$, che generalizza la funzione di Möbius, e della funzione $h_r(n) = \sum_{d|n} \mu_r^*(d)$.*

ABSTRACT: *We obtain upper bounds of an exponential sum of the arithmetical function $\mu_r^*(n)$ which generalizes the Möbius function and the functions $h_r(n) = \sum_{d|n} \mu_r^*(d)$.*

KEY WORDS: *Exponential sums - Möbius function - Summatory function.*

A.M.S. CLASSIFICATION: 11L07

1 - Introduction

H. DAVENPORT [2] obtained the following estimate: "If k is a positive number, and α is real, then

$$(1.1) \quad \sum_{n \leq x} \mu(n) e(n\alpha) \ll x \log^{-k} x$$

uniformly in α as $x \rightarrow \infty$ ". Assuming that there are no Siegel zeros ([3] p.88-96), D. HAJELA and B. SMITH [4] obtained

$$(1.2) \quad \sum_{n \leq x} \mu(n) e(n\alpha) \ll x e^{-c\sqrt{\log x}}$$

^(*)Work supported by the University of the Basque Country.

H. WALUM [8] studying the formulae for periodic functions obtained

$$(1.3) \quad \sum_{n \leq x} \lambda(n) e(n\alpha) \ll x \log^{-k} x$$

where $\lambda(n) = \sum_{u^2 v = n} \mu(v)$. The purpose of this paper is to obtain similar estimates for the functions of type Möbius $\mu_r^*(n)$ and $h_r(n)$. In the case of Möbius function, this problem is concerned to estimate exponential sum over prime numbers on minor arcs. The function $\mu_r^*(n)$ is a generalization of the Möbius function, that is, if $r = 1$ $\mu_1^*(n) = \mu(n)$ and for each $r \geq 1$ is $\mu_r^*(1) = 1$, $\mu_r^*(n) = 0$ if $p^{r+1} | n$ and $\mu_r^*(n) = (-1)^{\Omega(n)}$ if $n = \prod p_i^{\alpha_i}$, $0 \leq \alpha_i \leq r$, $\Omega(n) = \sum \alpha_i$. Moreover $\mu_r^*(n)$ coincides with the function $\mu_{r+1}(n)$ defined by SASTRY [6]. The function $h_r(n)$ is for each odd integer $r \geq 1$, $h_r(1) = 1$ and when $n > 1$, $n = p_1^{\alpha_1} \dots p_s^{\alpha_s}$

$$h_r(n) = \begin{cases} 1, & \text{if } \alpha_i < r, \alpha_i \equiv 0 \pmod{2}, i = 1, \dots, s \\ 0, & \text{otherwise.} \end{cases}$$

And for each even integer $r \geq 0$, $h_r(1) = 1$ and when $n > 1$, $n = p_1^{\alpha_1} \dots p_s^{\alpha_s}$

$$h_r(n) = \begin{cases} 1, & \text{if } \alpha_i \geq r \text{ or } (\alpha_i < r, \alpha_i \equiv 0 \pmod{2}) \ i = 1, \dots, s \\ 0, & \text{otherwise} \end{cases}$$

$$(1.4) \quad F(s) = \sum_{n=1}^{\infty} \frac{\mu_r^*(n)}{n^s} = \frac{1}{\zeta(s)} \sum_{n=1}^{\infty} \frac{h_r(n)}{n^s} = \frac{\zeta(2s)}{\zeta(s)} \gamma_{r+1}(s) \quad \text{Res} > 1$$

with

$$(1.5) \quad \gamma_{r+1}(s) = \begin{cases} \frac{\zeta((r+1)s)}{\zeta(2(r+1)s)} & r \text{ even} \\ \frac{1}{\zeta((r+1)s)} & r \text{ odd} \end{cases}$$

and

$$(1.6) \quad h_r(n) = \sum_{d|n} \mu_r^*(d) = \begin{cases} \sum_{d^2 m^{r+1} = n} |\mu(m)|, & \text{if } r \text{ even} \\ \sum_{d^2 m^{r+1} = n} \mu(m), & \text{if } r \text{ odd.} \end{cases}$$

Thus we prove the following theorems.

THEOREM 1. *Let us suppose $(a, q) = 1$, and $|\alpha - \frac{a}{q}| < \frac{1}{q^2}$. Then,*

$$(1.7) \quad \sum_{n \leq x} \mu_r^*(n) e(n\alpha) \ll \ln^3 x \left\{ \frac{x}{q^{\frac{1}{2}}} + x^{\frac{1}{2}} q^{\frac{1}{2}} + x^{\frac{1}{3}} \right\}.$$

THEOREM 2. *If there are no Siegel zeros there is a positive constant c_7 such that*

$$(1.8) \quad \left\| \sum_{n \leq x} \mu_r^*(n) e(n\alpha) \right\|_{\infty} \ll x e^{-c_7 \sqrt{\ln x}}.$$

THEOREM 3. i) *Let $r \geq 0$ and α real, then*

$$(1.9) \quad \sum_{n \leq x} h_r(n) e(n\alpha) \ll \begin{cases} \min\{x, \|\alpha\|^{-1}\}, & \text{if } r = 0 \\ e(\alpha), & \text{if } r = 1. \end{cases}$$

ii) *For all $r > 1$ and α real $|\alpha - \frac{a}{q}| < x^{-5/4+1/2(r+1)}$*

$$(1.10) \quad \sum_{n \leq x} h_r(n) e(n\alpha) \ll_r x^{1/2} q^{-1/2+\epsilon} + x^{\frac{1}{4} + \frac{1}{2(r+1)}}.$$

For $r > 1$ odd and $\alpha = 0$ from Theorem 14-2 [5] we deduce

$$\sum_{n \leq x} h_r(n) = \gamma_{r+1}(1) x^{1/2} + O(x^{1/(r+1)} \exp\{-C(\log x)^{3/5} (\log \log x)^{-1/5}\})$$

being C a positive constant.

2 – Previous Lemmas

We will need the following auxiliary lemmas. To obtain estimates of the sum on the minor arcs, we begin using a property of $\mu_r^*(n)$ which is given in Lemma 1 and it has been obtained using the VAUGHAN's technique [7], p-27. This is, beginning with a functional identity between the summatory function of certain Dirichlet series and using the unicity theorem of Dirichlet series, we can deduce other identity on the series coefficients. Then if $M(s) = \sum_{n \leq U} \frac{\mu_r^*(n)}{n^s}$ and $F(s)$ is given by (1.4) we can write the following identity

$$(2.1) \quad F(s) = 2M(s) - \frac{M^2(s)}{F(s)} + \left(1 - \frac{M(s)}{F(s)}\right)(F(s) - M(s)).$$

For $\sigma > 1$ these functions can be expanded as Dirichlet series and such expansions are unique, thus we may compare coefficients. Hence the following lemma holds

LEMMA 1. *The function $\mu_r^*(n)$ is $\mu_r^*(n) = a_0(n) - a_1(n) - a_2(n)$ where*

$$(2.2) \quad \begin{aligned} a_0(n) &= \begin{cases} 2 \mu_r^*(n) & n \leq U \\ 0 & n > U \end{cases} \\ a_1(n) &= \sum_{\substack{mke=n \\ m \leq U \\ k \leq U}} \mu_r^{*-1}(e) \mu_r^*(m) \mu_r^*(k) \\ a_2(n) &= \sum_{\substack{mk=n \\ m > U \\ k > U}} \mu_r^*(m) \sum_{\substack{d/k \\ d \leq U}} \mu_r^*(d) \mu_r^{*-1}\left(\frac{k}{d}\right) \end{aligned}$$

LEMMA 2. [4] *Let χ a character (mod) q . If there are no Siegel zeros:*

i) *there are constants $c > 0, c_0 > 0$ such that*

$$(2.3) \quad \sum_{n \leq x} \mu(n) \chi(n) \ll x e^{-c\sqrt{\ln x}}, \quad q \leq e^{c_0 \sqrt{\ln x}},$$

ii) if $(\ell, q) = 1$ there is constant c' such that ,

$$(2.4) \quad \sum_{\substack{m \leq x \\ m \equiv \ell \pmod{q}}} \mu(m) \ll x e^{-c' \sqrt{\ln x}} \quad q \leq e^{c' \sqrt{\ln x}}.$$

LEMMA 3. In the premises of Lemma 2 there are constants c_1, c_2 such that

$$(2.5) \quad \sum_{n \leq x} \mu_r^*(n) \chi(n) \ll x e^{-c_1 \sqrt{\ln x}} \quad \text{for } q \leq e^{c_2 \sqrt{\ln x}}.$$

PROOF. We note that

$$(2.6) \quad \zeta(2s) \gamma_{r+1}(s) = \sum_{n=1}^{\infty} \frac{h_r(n)}{n^s}, \quad \mu_r^*(n) = \sum_{d|n} h_r(d) \mu\left(\frac{n}{d}\right).$$

then we have

$$\sum_{n \leq x} \mu_r^*(n) \chi(n) = \sum_{d \leq x} h_r(d) \chi(d) \sum_{\delta \leq \frac{x}{d}} \mu(\delta) = \sum_{d \leq Y} + \sum_{Y < d \leq x} = S_1 + S_2.$$

In S_2 using the bound trivial for the inner sum and the propertie (see T-1 [1])

$$(2.7) \quad \sum_{n \leq x} \frac{h_r(n)}{n} = \zeta(2) \gamma_{r+1}(1) - \gamma_{r+1}(1/2) x^{-1/2} + O(x^{-r/(r+1)})$$

we obtain $S_2 \ll x^{\frac{1}{2}}$. In S_1 , we take $Y = x^{\frac{1}{2}}$ and applying Lemma 2-i) we obtain the bound (2.5). Thus the Lemma is proved. $\square$

LEMMA 4. Let $q \leq \delta$ and $|\alpha - \frac{a}{q}| \leq \frac{1}{qQ}$. There are constants $A > 0$, $B > 0$ such that

$$(2.8) \quad \left| \sum_{n \leq x} \mu_r^*(n) e(\alpha n) \right| \ll \left(\delta + \frac{x}{Q} \right) x e^{-A \sqrt{\ln x}} \quad \text{for } q \leq e^{B \sqrt{\ln x}}.$$

PROOF. We denote by $S(\alpha)$ the sum in (2.8). Let $\alpha = \frac{a}{q} + z$ and M_n the sum:

$$M_n = \sum_{m \leq n} \mu_r^*(m) e\left(\frac{ma}{q}\right) = \sum_{\ell \leq q} e\left(\frac{\ell a}{q}\right) \sum_{\substack{m \leq n \\ m \equiv \ell \pmod{q}}} \mu_r^*(m)$$

then by partial summation $|S(\alpha)| = |M_x e(xz) + \sum_{n \leq x-1} M_n e(nz)(1 - e(z))|$. Hence

$$|S(\alpha)| \leq (x|z| + 1) \max_{n \leq x} |M_n| \leq \left(\delta + \frac{x}{Q}\right) \max_{n \leq x} \max_{\ell \leq q} \left| \sum_{\substack{m \leq n \\ m \equiv \ell \pmod{q}}} \mu_r^*(m) \right|$$

i) If $(\ell, q) = 1$ and

$$\sum_{\substack{m \leq x \\ m \equiv \ell \pmod{q}}} \mu_r^*(m) = \frac{1}{\phi(q)} \sum_{\chi} \bar{\chi}(\ell) \sum_{m \leq x} \mu_r^*(m) \chi(m)$$

by Lemma 3, there are positive constants c_3 and c_4 such that

$$(2.9) \quad \left| \sum_{\substack{m \leq x \\ m \equiv \ell \pmod{q}}} \mu_r^*(m) \right| \ll x e^{-c_3 \sqrt{\ln x}} \quad \text{for } q \leq e^{c_4 \sqrt{\ln x}}$$

ii) If $(\ell, q) > 1$ we write

$$S^*(\ell) = \sum_{\substack{m \leq x \\ m \equiv \ell \pmod{q}}} \mu_r^*(m) = \sum_{\substack{\delta \leq x \\ (\delta, q)/\ell}} h_r(\delta) \sum_{\substack{d \leq \frac{x}{\delta} \\ d \equiv \ell' \bar{\delta}' \pmod{q'}}} \mu(d) = \sum_{\delta \leq Y} + \sum_{Y < \delta \leq x} = S_1 + S_2.$$

being $q' = q/D$ and $\ell' = \ell/D$, $D = (\delta, q)/\ell$, $\delta \bar{\delta}' \equiv 1 \pmod{q'}$. We take $Y = x^{\frac{1}{2}}$ then by Lemma 2-i)

$$S_1 \ll \sum_{\substack{\delta \leq Y \\ (\delta, q)/\ell}} h_r(\delta) \frac{x}{\delta} e^{-c' \sqrt{\ln \frac{x}{\delta}}}, \quad \text{for } q' \leq e^{c' \sqrt{\ln \frac{x}{\delta}}}.$$

Moreover the function $\frac{h_r(\delta)}{\delta}$ is non negative and $q' \leq e^{c' \sqrt{\ln \frac{\delta}{Y}}} \forall \delta \leq Y$, that is $q' \leq e^{c_5 \sqrt{\ln x}}$. Then by (2.7) we deduce $S_1 \ll x e^{-c' \sqrt{\ln \frac{\delta}{Y}}} = x e^{-c_5 \sqrt{\ln x}}$.

Also, from the bound trivial and (2.7) we obtain $S_2 \ll x Y^{-\frac{1}{2}} = x^{\frac{3}{2}}$. Hence if there are no Siegel zeros then there are positive constants c_5 and c_6 so that

$$(2.10) \quad S^*(\ell) \ll x e^{-c_5 \sqrt{\ln x}}, \text{ for } q \leq e^{c_6 \sqrt{\ln x}}.$$

Thus from (2.9) and (2.10) the lemma is deduced. $\square$

3 – Proof of theorems

PROOF OF THEOREM 1. Using (2.1) we can write $S(\alpha)$ as $S = S_0 - S_1 - S_2$ where each S_i is

$$(3.1) \quad S_i = \sum_{n \leq x} a_i(n) e(n\alpha) \quad , i = 0, 1, 2$$

By (3.1) , (2.2) we trivially have $|S_0| \ll U$. To estimate S_1 , by (3.1) , (2.2) we have

$$\begin{aligned} S_1 &= \sum_{\substack{mkt \leq x \\ m \leq U \\ k \leq U}} \mu_r^{*-1}(t) \mu_r^*(m) \mu_r^*(k) e(mk t \alpha) = \\ &= \sum_{n \leq U^2} \sum_{t \leq \frac{x}{n}} \mu_r^{*-1}(t) e(t n \alpha) \left(\sum_{\substack{m \leq U \\ mk=n}} \mu_r^*(m) \mu_r^*(k) \right) \end{aligned}$$

Hence we have

$$(3.2) \quad S_1 \ll \sum_{n \leq U^2} d(n) \left| \sum_{t \leq \frac{x}{n}} \mu_r^{*-1}(t) e(t n \alpha) \right| = \sum_{n \leq U^2} d(n) |S_1^*|$$

being the inner sum for r odd

$$S_1^* = \sum_{t \leq \frac{x}{n}} \mu_r^{*-1}(t) e(t n \alpha) = \sum_{h \leq \frac{x}{n}} |\mu(h)| \sum_{m \leq (\frac{x}{nh})^{\frac{1}{r+1}}} e(n h m^{r+1} \alpha)$$

Since $\alpha = \frac{a}{q} + \frac{\theta}{q^2}$, $|\theta| < 1$ we can write the sum S_1 in the form $S_1 = S_{1q/n} + S_{1q/n}$.

To estimate these sums we observe that if $q \nmid n$ then by the bound trivial we deduce

$$|S_1^*| \leq \frac{x}{n}. \text{ Hence}$$

$$(3.3) \quad S_1 \ll x \sum_{\substack{n \leq U^2 \\ q|n}} \frac{d(n)}{n} \ll x \frac{d(q)}{q} \ln^2(U^2).$$

If $q|n$ and $\alpha = \frac{a}{q} + z$ with $|z| < \frac{1}{q^2}$ then by the Van der Corput Lemma

$$S_1^* \ll \sum_{h \leq \frac{x}{n}} |\mu(h)| \min \left\{ \left(\frac{x}{nh} \right)^{\frac{1}{r+1}}, (|z|nh)^{-\frac{1}{r+1}} \right\} + O\left(\frac{x}{n}\right)$$

Thus

$$(3.4) \quad S_1 \ll \sum_{\substack{n \leq U^2 \\ q|n}} d(n) \sum_{h \leq \frac{x}{n}} |\mu(h)| \min \left\{ \left(\frac{x}{nh} \right)^{\frac{1}{r+1}}, (|z|nh)^{-\frac{1}{r+1}} \right\} + O \left(x \sum_{\substack{n \leq U^2 \\ q|n}} \frac{d(n)}{n} \right).$$

When $U = x^{\frac{2}{r}}$ and using the estimates on $S_{1q/n}$, $S_{1q/n}$ together, we get for S_1 and r odd

$$(3.5) \quad S_1 \ll \frac{x \ln^2 x}{q^{1-\epsilon}}.$$

The same bound is obtained if r even. Now we estimate $S_2, \forall r \geq 1$, by (2.3)

$$\begin{aligned} S_2 &= \sum_{\substack{mk \leq x \\ m > U, k > U}} \mu_r^*(m) \sum_{\substack{d/k \\ d \leq U}} \mu_r^*(d) \mu_r^{*-1}\left(\frac{k}{d}\right) e(mk\alpha) = \\ &= \sum_{k > U} \left(\sum_{\substack{d/k \\ d \leq U}} \mu_r^*(d) \mu_r^{*-1}\left(\frac{k}{d}\right) \right) \sum_{U < m \leq \frac{x}{k}} \mu_r^*(m) e(mk\alpha) \end{aligned}$$

Since $\alpha = \frac{a}{q} + \frac{\theta}{q^2}$, $|\theta| < 1$ we can write the sum S_1 in the form $S_1 = S_{1q/n} + S_{1q/n}$.

To estimate these sums we observe that if $q \nmid n$ then by the bound trivial we deduce

$$|S_1^*| \leq \frac{x}{n}. \text{ Hence}$$

$$(3.3) \quad S_1 \ll x \sum_{\substack{n \leq U^2 \\ q|n}} \frac{d(n)}{n} \ll x \frac{d(q)}{q} \ln^2(U^2).$$

If $q|n$ and $\alpha = \frac{a}{q} + z$ with $|z| < \frac{1}{q^2}$ then by the Van der Corput Lemma

$$S_1^* \ll \sum_{h \leq \frac{x}{n}} |\mu(h)| \min \left\{ \left(\frac{x}{nh} \right)^{\frac{1}{r+1}}, (|z|nh)^{-\frac{1}{r+1}} \right\} + O\left(\frac{x}{n}\right)$$

Thus

$$(3.4) \quad S_1 \ll \sum_{\substack{n \leq U^2 \\ q|n}} d(n) \sum_{h \leq \frac{x}{n}} |\mu(h)| \min \left\{ \left(\frac{x}{nh} \right)^{\frac{1}{r+1}}, (|z|nh)^{-\frac{1}{r+1}} \right\} + O \left(x \sum_{\substack{n \leq U^2 \\ q|n}} \frac{d(n)}{n} \right).$$

When $U = x^{\frac{2}{r}}$ and using the estimates on $S_{1q/n}$, $S_{1q/n}$ together, we get for S_1 and r odd

$$(3.5) \quad S_1 \ll \frac{x \ln^2 x}{q^{1-\epsilon}}.$$

The same bound is obtained if r even. Now we estimate $S_2, \forall r \geq 1$, by (2.3)

$$\begin{aligned} S_2 &= \sum_{\substack{mk \leq x \\ m > U, k > U}} \mu_r^*(m) \sum_{\substack{d/k \\ d \leq U}} \mu_r^*(d) \mu_r^{*-1}\left(\frac{k}{d}\right) e(mk\alpha) = \\ &= \sum_{k > U} \left(\sum_{\substack{d/k \\ d \leq U}} \mu_r^*(d) \mu_r^{*-1}\left(\frac{k}{d}\right) \right) \sum_{U < m \leq \frac{x}{k}} \mu_r^*(m) e(mk\alpha) \end{aligned}$$

By decomposing the range of summation on k as follows

$$(3.6) \quad A = \{2^j U / j = 0, \dots, i; 2^i U^2 < x \leq 2^{i+1} U^2\}$$

we write $S_2 = \sum_{Y \in A} S(Y)$ where

$$S(Y) = \sum_{Y < k \leq 2Y} \left(\sum_{\substack{d|k \\ d \leq U}} \mu_r^*(d) \mu_r^{*-1}\left(\frac{k}{d}\right) \right) \sum_{U < m \leq \frac{x}{k}} \mu_r^*(m) e(mk\alpha)$$

By Hölder's inequality :

$$\begin{aligned} |S(Y)|^2 &\ll \sum_{Y < k \leq 2Y} d^2(k) \sum_{Y < k \leq 2Y} \left| \sum_{U < m \leq \frac{x}{k}} \mu_r^*(m) e(mk\alpha) \right|^2 \ll \\ &\ll \sum_{Y < k \leq 2Y} d^2(k) \sum_{U < m \leq \frac{x}{k}} \sum_{U < \ell \leq \frac{x}{k}} \min\{Y, \|(m - \ell)\alpha\|^{-1}\} \ll \\ &\ll x \ln^4 x \left(\frac{x}{q} + Y + \frac{x}{Y} + q \right) \end{aligned}$$

Thus the sum S_2 is

$$(3.7) \quad S_2 \ll (\ln x)^3 \left(\frac{x}{q^{1/2}} + x^{1/2} q^{1/2} + \frac{x}{U^{1/2}} \right).$$

Replacing (3.1), (3.5) and (3.7) on S and taking $U = x^{2/5}$ we obtain

$$\sum_{n \leq x} \mu_r^*(n) e(n\alpha) \ll \ln^3 x \left\{ \frac{x}{q^{1/2}} + x^{1/2} q^{1/2} + x^{4/5} \right\}.$$

and Theorem is proved. $\square$

PROOF OF THEOREM 2. Let $Q = x e^{-c_8 \sqrt{\ln x}}$ and $\delta = e^{c_8 \sqrt{\ln x}}$, with $c_8 < c_6$. If $\delta \leq q \leq Q$ we can apply Theorem 1 and we have

$$\left| \sum_{n \leq x} \mu_r^*(n) e(n\alpha) \right| \ll x e^{-c_9 \sqrt{\ln x}}.$$

If $q \leq \delta$ we apply Lemma 4 to get

$$\left| \sum_{n \leq x} \mu_r^*(n) e(n\alpha) \right| \ll x e^{-c_{10} \sqrt{\ln x}}$$

for some constant c_7 . □

PROOF OF THEOREM 3. If $r = 0$ or $r = 1$ the formula (1.9) is trivial. Let $r > 1$ be an odd integer, by (1.6) we can write

$$(3.9) \quad S = \sum_{n \leq x} h_r(n) e(n\alpha) = \sum_{d\delta \leq x} \mu_r^*(d) e(d\delta\alpha) = \sum_{d^2 m^{r+1} \leq x} \mu(m) e(d^2 m^{r+1} \alpha)$$

and for $r \geq 2$ even integer we have

$$(3.10) \quad S = \sum_{n \leq x} h_r(n) e(n\alpha) = \sum_{d^2 m^{r+1} \leq x} |\mu(m)| e(d^2 m^{r+1} \alpha)$$

The sum on the right-hand may be regarded as a sum over the lattice points satisfying $H \geq 1, K \geq 1$, $H^2 K^{r+1} \leq x$. This region may be broken into three parts by a point (H, K) on $H^2 K^{r+1} = x$ in the standard way of the elementary theories of the divisor problem. One obtains

$$(3.11) \quad S = \sum_{d \leq H} \sum_{m^{r+1} \leq (x/d^2)} \mu(m) e(d^2 m^{r+1} \alpha) + \sum_{m \leq K} \mu(m) \sum_{d^2 \leq (x/m^{r+1})} e(d^2 m^{r+1} \alpha) - \sum_{\substack{d \leq H \\ m \leq K}} \mu(m) e(d^2 m^{r+1} \alpha) = S_1 + S_2 - S_3$$

Analogously if $r \geq 2$ even integer. The terms in these sums are one in absolute value, so S_3 may be estimated by their number of terms and $S_3 \ll HK$. Also $S_1 \ll x^{\frac{1}{r+1}} H^{1-\frac{2}{r+1}}$, $r > 1$. We take $H = x^{1/4}$, $K = x^{1/2(r+1)}$. To evaluate S_2 we suppose in the first place $\alpha = a/q$, $(a, q) = 1$. Hence

$$S_2 \ll \frac{x^{1/2}}{q^{1/2}} \sum_{m \leq K} \frac{(m^{r+1}, q)^{1/2}}{m^{\frac{r+1}{2}}} = \frac{x^{1/2}}{q^{1/2}} \sum_{d|q} \sum_{\substack{m \leq K \\ (m, q) = q}} \frac{(m^{r+1}, q)^{1/2}}{m^{\frac{r+1}{2}}} \ll \frac{x^{1/2}}{q^{1/2-\epsilon}}$$

We have deduced (1.10). If $\alpha = \frac{a}{q} + \beta$ with $|\beta| \leq x^{-5/4+1/2(r+1)}$, then

$$\left| \sum_{d \leq (x/m^{r+1})^{1/2}} e(d^2 m^{r+1} \alpha) \right| \leq$$

$$\begin{aligned}
&\leq \left| \sum_{d \leq (x/m^{r+1})^{1/2}} e(d^2 m^{r+1} \frac{a}{q}) \right| + \left| \sum_{d \leq (x/m^{r+1})^{1/2}} e(d^2 m^{r+1} \frac{a}{q}) (e(d^2 m^{r+1} \beta) - 1) \right| \\
&= |S(\frac{a}{q})| + |S(\frac{a}{q} + \beta) - S(\frac{a}{q})|, \\
&|S(\frac{a}{q} + \beta) - S(\frac{a}{q})| \ll m^{r+1} |\beta| (x/m^{r+1})^{3/2}
\end{aligned}$$

Thus, we have $S_2 \ll x^{1/2} q^{-1/2+\epsilon} + x^{1/4+1/2(r+1)}$ and (1.10) is deduced. The theorem is proved. $\square$

Acknowledgements

The authors thanks the referee for his suggestions and precisions.

REFERENCES

- [1] C. CALDERÓN: *Sumas en progresiones aritméticas para funciones $\Lambda_{k,t}^*$* , Procee. of Congress on Number Theory, 1984 (1989), 148-162
- [2] H. DAVENPORT: *Collected Works*, Academic Press, New York, Vol. IV, n. 2
- [3] H. DAVENPORT: *Multiplicative number theory*, Second Edition, Springer-Verlag New York Heidelberg Berlin, 1980.
- [4] D. HAJELA - B. SMITH: *On the Maximun of an Exponential Sum of the Moebius Function*, Lecture Notes in Mathematics 1240, 1984-85, 145-164.
- [5] A. IVIĆ: *The Riemann Zeta-Function*, J.Wiley and Sons. New York 1985.
- [6] K.P.R. SASTRY: *On the generalized type of Möbius function*, Math. Student 31 (1963), 85-88.
- [7] R. VAUGHAN: *The Hardy-Littlewood Method*, Cambridge Press (1981).
- [8] H. WALUM: *Multiplication formulae for periodic functions*, Pacific J. of Math. Vol. 149 n. 2, 1991, 383-396.

*Lavoro pervenuto alla redazione il 21 settembre 1992
ed accettato per la pubblicazione il 5 maggio 1993*

INDIRIZZO DELL'AUTORE:

C. Calderón - M.J. Velasco - Universidad del País Vasco - Departamento de Matemáticas - E-48080 Bilbao - España